



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 4th Semester Session: Autumn 2025

Registration #	Name	ACT244					ACT413					FIN 642					FIN232					FIN362					GEN-124				
		Business Taxation					Financial Accounting					Financial Management					Introduction to Business Finance					Financial Management					Civics and Community Engagement				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/A-20/M/D/1731	Abdullah Latif	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/B/056	Asad Ahmed Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/B/063	Khurram Aftab	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0015	Faizan Sheikh	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0029	Malik Abdul Rehman	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	76	B+	3.5	3	10.5	-	-	-	-	-		
IS/BBA/A-23/M/B/0051	Abdul Moiz	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/B/0054	Itrat Zahra	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	33	F	-	3	-	-	-	-	-	-	32	F	-	2	-		
IS/BBA/A-23/M/B/0085	Sher Jan	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/B/0090	Zaid Tariq	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-23/M/001	Abdul Hadi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-			
IS/BBA/S-23/M/024	Sawera Chaudhry	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/004	Aifa Nazaket	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/006	Ayana Ali	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/007	Azka Saleem	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/010	Faryal Habib	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/011	Fatima Baig	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/015	Imtinan Ali Shah	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	62	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/016	Jawahir Ali	-	-	-	-	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/017	Kashif Ali	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/018	Khadija Laraib	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/019	Khizar Aftab	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/020	Kinza Arshad	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/025	Muhammad Abdul Hannan	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/026	Muhammad Abid	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/027	Muhammad Ali Khan	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/031	Muhammad Hassan Junaid Khan	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	25	F	-	3	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/033	Muhammad Kashif Asif	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/041	Murad Ahmad	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/042	Muzamil Khan	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date:



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 4th Semester Session: Autumn 2025

		GEN-231					GEN-241					GEN-246					HRM-241					HRM236					HRM241				
		Statistics					Entrepreneurship					Everyday Sciences					Human Resource Management					Human Behavior / Introduction to Psychology					Human Resource Management				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/A-20/M/D/1731	Abdullah Latif	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	25	F	-	3	-	
IS/BBA/A-22/M/B/056	Asad Ahmed Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/B/063	Khurram Aftab	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	60	C	2.0	3	6.0	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0015	Faizan Sheikh	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0029	Malik Abdul Rehman	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5		
IS/BBA/A-23/M/B/0051	Abdul Moiz	-	-	-	-	-	66	C+	2.5	2	5.0	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/B/0054	Itrat Zahra	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/B/0085	Sher Jan	-	-	-	-	-	80	A	4.0	2	8.0	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/B/0090	Zaid Tariq	-	-	-	-	-	63	C	2.0	2	4.0	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-23/M/001	Abdul Hadi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0		
IS/BBA/S-23/M/024	Sawera Chaudhry	-	-	-	-	-	64	C	2.0	2	4.0	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/004	Aifa Nazaket	-	-	-	-	-	75	B+	3.5	2	7.0	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/006	Ayana Ali	-	-	-	-	-	91	A	4.0	2	8.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/007	Azka Saleem	-	-	-	-	-	89	A	4.0	2	8.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/010	Faryal Habib	-	-	-	-	-	81	A	4.0	2	8.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/011	Fatima Baig	-	-	-	-	-	72	B	3.0	2	6.0	58	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/015	Imtinan Ali Shah	-	-	-	-	-	75	B+	3.5	2	7.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/016	Jawahir Ali	-	-	-	-	-	62	C	2.0	2	4.0	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/017	Kashif Ali	-	-	-	-	-	80	A	4.0	2	8.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/018	Khadija Laraib	-	-	-	-	-	29	F	-	2	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/019	Khizar Aftab	-	-	-	-	-	55	C	2.0	2	4.0	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/020	Kinza Arshad	-	-	-	-	-	93	A	4.0	2	8.0	90	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/025	Muhammad Abdul Hannan	-	-	-	-	-	87	A	4.0	2	8.0	57	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/026	Muhammad Abid	70	B	3.0	3	9.0	70	B	3.0	2	6.0	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/027	Muhammad Ali Khan	-	-	-	-	-	83	A	4.0	2	8.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/031	Muhammad Hassan Junaid Khan	-	-	-	-	-	33	F	-	2	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/033	Muhammad Kashif Asif	-	-	-	-	-	75	B+	3.5	2	7.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/041	Murad Ahmad	-	-	-	-	-	83	A	4.0	2	8.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/042	Muzamil Khan	-	-	-	-	-	80	A	4.0	2	8.0	58	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date:



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 4th Semester Session: Autumn 2025

		HRM-441					IRM-123					MGT482					MKT233					MKT246					MKT-446				
		Human Resource Management					Globalization & International Relations					Entrepreneurship					Principles of Marketing					Marketing Management					Marketing Management				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/A-20/M/D/1731	Abdullah Latif	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-		
IS/BBA/A-22/M/B/056	Asad Ahmed Khan	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/B/063	Khurram Aftab	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-23/M/A/0015	Faizan Sheikh	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-23/M/A/0029	Malik Abdul Rehman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-23/M/B/0051	Abdul Moiz	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5		
IS/BBA/A-23/M/B/0054	Itrat Zahra	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-23/M/B/0085	Sher Jan	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	71	B	3.0	3	9.0		
IS/BBA/A-23/M/B/0090	Zaid Tariq	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0		
IS/BBA/S-23/M/001	Abdul Hadi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-		
IS/BBA/S-23/M/024	Sawera Chaudhry	32	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	58	C	2.0	3	6.0		
IS/BBA/S-24/M/004	Aifa Nazaket	70	B	3.0	3	9.0	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	55	C	2.0	3	6.0		
IS/BBA/S-24/M/006	Ayana Ali	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	78	B+	3.5	3	10.5		
IS/BBA/S-24/M/007	Azka Saleem	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
IS/BBA/S-24/M/010	Faryal Habib	70	B	3.0	3	9.0	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0		
IS/BBA/S-24/M/011	Fatima Baig	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5		
IS/BBA/S-24/M/015	Imtinan Ali Shah	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0		
IS/BBA/S-24/M/016	Jawahir Ali	55	C	2.0	3	6.0	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	55	C	2.0	3	6.0		
IS/BBA/S-24/M/017	Kashif Ali	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	58	C	2.0	3	6.0		
IS/BBA/S-24/M/018	Khadija Laraib	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5		
IS/BBA/S-24/M/019	Khizar Aftab	50	D	1.5	3	4.5	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	65	C+	2.5	3	7.5		
IS/BBA/S-24/M/020	Kinza Arshad	88	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5		
IS/BBA/S-24/M/025	Muhammad Abdul Hannan	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5		
IS/BBA/S-24/M/026	Muhammad Abid	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0		
IS/BBA/S-24/M/027	Muhammad Ali Khan	71	B	3.0	3	9.0	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	65	C+	2.5	3	7.5		
IS/BBA/S-24/M/031	Muhammad Hassan Junaid Khan	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
IS/BBA/S-24/M/033	Muhammad Kashif Asif	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0		
IS/BBA/S-24/M/041	Murad Ahmad	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
IS/BBA/S-24/M/042	Muzamil Khan	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date:



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 4th Semester Session: Autumn 2025

		PM473					QNT-114					QNT245				
		Project Management					Business Mathematics					Statistical Inference				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/A-20/M/D/1731	Abdullah Latif	-	-	-	-	-	-	-	-	-	16	F	-	3	-	
IS/BBA/A-22/M/B/056	Asad Ahmed Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/B/063	Khurram Aftab	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0015	Faizan Sheikh	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0029	Malik Abdul Rehman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/B/0051	Abdul Moiz	24	F	-	3	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/B/0054	Itrat Zahra	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/B/0085	Sher Jan	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/B/0090	Zaid Tariq	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	
IS/BBA/S-23/M/001	Abdul Hadi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-23/M/024	Sawera Chaudhry	20	F	-	3	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/004	Aifa Nazaket	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/006	Ayana Ali	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/007	Azka Saleem	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/010	Faryal Habib	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/011	Fatima Baig	61	C	2.0	3	6.0	70	B	3.0	3	9.0	-	-	-	-	
IS/BBA/S-24/M/015	Imtinan Ali Shah	22	F	-	3	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/016	Jawahir Ali	24	F	-	3	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/017	Kashif Ali	20	F	-	3	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/018	Khadija Laraib	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/019	Khizar Aftab	19	F	-	3	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/020	Kinza Arshad	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/025	Muhammad Abdul Hannan	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/026	Muhammad Abid	14	F	-	3	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/027	Muhammad Ali Khan	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/031	Muhammad Hassan Junaid Khan	18	F	-	3	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/033	Muhammad Kashif Asif	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/041	Murad Ahmad	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/042	Muzamil Khan	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date:



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**BBA (Honours) 4th Semester Session: Autumn 2025**

Registration #	Name	ACT244					ACT413					FIN 642					FIN232					FIN362					GEN-124				
		Business Taxation					Financial Accounting					Financial Management					Introduction to Business Finance					Financial Management					Civics and Community Engagement				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/S-24/M/043	Rafiya Naqeeb	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/044	Salman Sarfaraz Khan	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/050	Zainab Ibrar	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/051	Zia Ul Islam	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date:



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**BBA (Honours) 4th Semester Session: Autumn 2025**

		GEN-231					GEN-241					GEN-246					HRM- 241					HRM236					HRM241				
		Statistics					Entrepreneurship					Everyday Sciences					Human Resource Management					Human Behavior / Introduction to Psychology					Human Resource Management				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/S-24/M/043	Rafiya Naqeeb	-	-	-	-	91	A	4.0	2	8.0	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/044	Salman Sarfaraz Khan	-	-	-	-	71	B	3.0	2	6.0	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/050	Zainab Ibrar	-	-	-	-	95	A	4.0	2	8.0	92	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/051	Zia Ul Islam	-	-	-	-	75	B+	3.5	2	7.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date:



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**BBA (Honours) 4th Semester Session: Autumn 2025**

		HRM-441					IRM-123					MGT482					MKT233					MKT246					MKT-446								
		Human Resource Management					Globalization & International Relations					Entrepreneurship					Principles of Marketing					Marketing Management					Marketing Management								
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product				
IS/BBA/S-24/M/043	Rafiya Naqeeb	67	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0
IS/BBA/S-24/M/044	Salman Sarfaraz Khan	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
IS/BBA/S-24/M/050	Zainab Ibrar	94	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0		
IS/BBA/S-24/M/051	Zia Ul Islam	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date:



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**BBA (Honours) 4th Semester Session: Autumn 2025**

		PM473					QNT-114					QNT245						
		Project Management					Business Mathematics					Statistical Inference						
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product		
IS/BBA/S-24/M/043	Rafiya Naqeeb	78	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/044	Salman Sarfaraz Khan	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/050	Zainab Ibrar	94	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/051	Zia Ul Islam	27	F	-	3	-	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: